Quiz 4

January 27, 2017

Show all work and circle your final answer.

1. Set up, but do not evaluate, an integral to find the volume
obtained by rotating the region bounded by y =0, z = y?, and
x = 1 about the y-axis using:

(a) cylindrical shells
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(b) disks/washers
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2. Set up, but do not evaluate, an integral that represents the
volume of the solid of revolution obtained by revolving the area
bounded by y = 2z and z = %y — y? about the line y = —1.
(Use whichever method works best.)
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3. Use éhtéa method of cylindrical shells to set up an integral to find

the volume obtained by rotating the region bounded by z =

y? — 2y and z = 2y — y? about the line y = 3. Do not

evaluate.
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